| AD-A1 | 32 652 | EXP | RESSIC E-STAT | NS FO | R THE GET(| EXACŤ U) ARM AND CO | STATE Y MISS | TRANS | ITION OMMAND | MATRIX REDST | OF A ONE | 1/ | 1 |
|--------|--------|-------|------------------|-------|---------------|---------------------------|-----------------|-------|-----------------|-----------------|-------------|----|---|
| UNCLRS | SIFIE | o Aŭĝ | 83 DF | SMI/R | 3-83-6 | | | | | F/G 1 | 2/1 | NL | |
| : | | ¥ | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | | | . <u> </u> | | | | | | | | | _ | |



ANTENNAN ANA CARDON AND

MICROCOPY RESOLUTION TEST CHART NATIONAL BUREAU OF STANDARDS-1963-A



DISPOSITION INSTRUCTIONS

DESTROY THIS REPORT WHEN IT IS NO LONGER NEEDED. DO NOT RETURN IT TO THE ORIGINATOR.

DISCLAIMER

THE FINDINGS IN THIS REPORT ARE NOT TO BE CONSTRUED AS AN OFFICIAL DEPARTMENT OF THE ARMY POSITION UNLESS SO DESIG-NATED BY OTHER AUTHORIZED DOCUMENTS.

TRADE NAMES

USE OF TRADE NAMES OR MANUFACTURERS IN THIS REPORT DOES NOT CONSTITUTE AN OFFICIAL INDORSEMENT OR APPROVAL OF THE USE OF SUCH COMMERCIAL HARDWARE OR SOFTWARE.

| ECURIT CLASSIFICATION OF THIS PAGE (WIND D | | READ INSTRUCTIONS |
|--|---|---|
| REPORT DOCUMENTATIO | ON PAGE | BEFORE COMPLETING FORM |
| . REPORT NUMBER | 2. GOVT ACCESSION NO | 3. RECIPIENT'S CATALOG NUMBER |
| RG-83-6 | AD-A1320 | 952 |
| . TITLE (and Subtitie) | | 5. TYPE OF REPORT & PERIOD COVERED |
| Expressions for the Exact State | Transition | Technical Report |
| latrix of a Nine-State Target Model | | 6. PERFORMING ORG. REPORT NUMBER |
| | | |
| AUTHOR(.) | | 8. CONTRACT OR GRANT NUMBER(*) |
| Wayne L. McCowan and Keith Higg | inbotham | |
| | | |
| PERFORMING ORGANIZATION NAME AND ADDR | IESS | 10. PROGRAM ELEMENT, PROJECT, TASK |
| Commander | | AREA & WORK UNIT NUMBERS |
| ATTN: DRSMI-RG | | |
| Redstone Arsenal, AL 35898 | | |
| 1. CONTROLLING OFFICE NAME AND ADDRESS | | 12. REPORT DATE |
| US Army Missile Command | | AUGUSE 1903 13. NUMBER OF PAGES |
| ATTN: DRSMI-RPT Redstone Argenal AL 35808 | | 38 |
| A. MONITORING AGENCY HAME & ADDRESS(I dit | ferent from Controlling Office) | 15. SECURITY CLASS. (of this report) |
| | | |
| | | 15. DECLASSIFICATION/DOWNGRADING |
| | | SCHEDULE |
| | | |
| 6. DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis | stribution Unlimite | |
| 6. DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis 7. DISTRIBUTION STATEMENT (of the obstract entry | stribution Unlimite ered in Block 20, 11 different fr | ed. |
| 6. DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis 7. DISTRIBUTION STATEMENT (of the ebstrect enter | stribution Unlimite ered in Block 20, 11 different fr | ed. |
| 6. DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis 7. DISTRIBUTION STATEMENT (of the obstract entry 8. SUPPLEMENTARY NOTES | stribution Unlimite ered in Block 20, 11 different fr | ed. |
| 6. DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis 7. DISTRIBUTION STATEMENT (of the obstract ento 8. SUPPLEMENTARY NOTES | stribution Unlimite | ed. |
| 6. DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis 7. DISTRIBUTION STATEMENT (of the obstract entr 8. SUPPLEMENTARY NOTES 9. KEY WORDS (Continue on reverse side if necesse | stribution Unlimite ered in Block 20, il different fr | ed. om Report) |
| 6. DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis 7. DISTRIBUTION STATEMENT (of the obstract anto 8. SUPPLEMENTARY NOTES 8. SUPPLEMENTARY NOTES | stribution Unlimite ered in Block 20, il different fr | ed. con Report) |
| 6. DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis 7. DISTRIBUTION STATEMENT (of the obstract ant 8. SUPPLEMENTARY NOTES 8. SUPPLEMENTARY NOTES | stribution Unlimite ered in Block 20, il different fr | ed. con Report) |
| DISTRIBUTION STATEMENT (of this Report) Approved for Public Release; Dis DISTRIBUTION STATEMENT (of the obstract entr DISTRIBUTION STATEMENT (of the obstract entr Supplementary notes AUSTRACT (Continue on reverse side if necesses AUSTRACT (Continue on reverse side if necesses AUSTRACT (Continue on reverse side if necesses Several expressions have been de associated with a time-invariant from a different combination of specified bandwidths in the diff ation components along three ort | ered in Block 20, 11 different fr ered in Block 20, 11 different fr ry and identify by block number eveloped for the ex t, 9x9 target state allowable paramete ferential equations thogonal coordinate | ed. our Report) () () () () () () () () () (|

.

•

.

.

SECURITY CLASSIFICATION OF THIS PAGE (When Data Entered)

CONTENTS

| Secti | on | Pag | e |
|-------|------|---|---|
| I. | Int | troduction | ļ |
| 11. | Mat | thematical Background 4 | ł |
| 111. | Tar | rget Model State Transition Matrix Evaluation 8 | 3 |
| | A. | Introduction | 3 |
| | B. | Case With $\lambda_{\mathbf{X}}$, $\lambda_{\mathbf{y}}$, $\lambda_{\mathbf{z}}$ Positive, Unequal |) |
| | c. | Case With λ_x , λ_y , λ_z Positive, Equal $\dots \dots \dots$ | 2 |
| | D. | Case With One Root Zero; Remaining Roots Positive, Unequal | 3 |
| | E. | Case With One Root Zero; Remaining Roots | |
| | | Positive, Equal \cdots | 1 |
| IV. | Con | nclusions | } |
| Appen | dix | A | } |
| Refer | ence | 28 • • • • • • • • • • • • • • • • • • • | , |



I. INTRODUCTION

.

The Analytic Sciences Corporation (TASC) recently performed a study (see Reference 1) for MICOM on the implementation of a strapdown inertial updated midcourse guidance scheme for application to Short Range Air Defense type missiles. Part of this effort involved design of an Extended Kalman Filter (EKF) to process the radar measurement data received from a "quiet radar," i.e., track on scan radar, as it scans a target. The target system dynamic model was assumed to be linear in a rectangular coordinate system and the target state vector was defined as

$$x = (x, y, z, \dot{x}, \dot{y}, \dot{z}, \ddot{x}, \ddot{y}, \dot{z}),$$
 (1)

where (x, y, z) denote position, $(\dot{x}, \dot{y}, \dot{z})$ denote velocity, and $(\ddot{x}, \ddot{y}, \ddot{z})$ denote acceleration. Since the target accelerations cannot be directly measured, they are modeled as first-order Markov processes given by the differential equations

$$\vec{\mathbf{x}} = -\lambda_{\mathbf{x}}\vec{\mathbf{x}} + \mathbf{w}_{\mathbf{x}}$$

$$\vec{\mathbf{y}} = -\lambda_{\mathbf{y}}\vec{\mathbf{y}} + \mathbf{w}_{\mathbf{y}}$$

$$\vec{\mathbf{z}} = -\lambda_{\mathbf{z}}\vec{\mathbf{z}} + \mathbf{w}_{\mathbf{z}}$$
(2)

where λ_x , λ_y , λ_z are specified bandwidths (nominally equal and ≥ 0) and w_x , w_y , w_z are white Gaussian noise processes with zero means and specified spectral densities.

The dynamic system model for the target tracking filter which processes the radar measurement data was given (see Reference 1) as

$$\dot{\mathbf{x}} = \mathbf{F}\mathbf{x} + \mathbf{w}$$
 (3)

where F is a time-invariant 9x9 matrix and w is the system process noise vector. Expressing equation (3) in expanded form results in

| ý ż | þ | 1 0 0 0 1 0 0 0 1 | | 0 | | x y z 0 0 | |
|--------------------------|---|-------------------------|---------------------------|---------------|---------------------------|--|----|
| x y = z | þ | 0 | 1 0 0 | 0 1 0 | 0 0 1 | $\begin{vmatrix} \dot{\mathbf{x}} & 0 \\ \dot{\mathbf{y}} & 0 \\ \dot{\mathbf{z}} & 0 \end{vmatrix} . $ (4 | •) |
| |) | 0 | -λ _ж 0 0 | 0 -λy 0 | 0 0 -λ _z | $ \begin{vmatrix} \ddot{x} \\ y \\ y \\ z \\ z \\ \end{vmatrix} \begin{vmatrix} u_x \\ u_y \\ u_z \\ u_z \end{vmatrix} $ | |

In order to obtain a solution for x from Equation (3) an expression must be found for the system state transition matrix defined by

 $\bar{\Phi} = e^{F\Delta t}, \tag{5}$

where Δt is the time interval (assumed to be constant) between measurements and F is defined as in Equation (4).

There are several methods (see Reference 2) which may be used to evaluate a matrix exponential of the form e^{Ft} . The two more commonly used are: (a) expansion of e^{Ft} into a power series in t as

$$e^{Ft} = I + Ft + \frac{(Ft)^2}{2} + \frac{(Ft)^3}{3!} + \dots + \frac{(Ft)^n}{n!} + \dots,$$
 (6)

and (b) the Laplace transform method whereby e^{Ft} is found as

$$e^{Ft} = \mathcal{L}^{-1}\{(sI - F)^{-1}\}.$$
 (7)

As the order of the F matrix increases, the computations involved in obtaining an exact evaluation of e^{Ft} using Equation (7) become extremely burdensome. As a consequence, TASC chose to approximate $e^{F\Delta t}$ by using the first two terms of a power series expansion in Δt , i.e.,

$$e^{F\Delta t} \approx I + F\Delta t$$
, (8)

which is very simple to calculate.

ł

An exact expression will be developed, in this report, for the 9-state target model state transition matrix defined by Equation (5)) with the matrix F of Equation (4). In the process, another method (based on the LaGrange-Sylvester interpolation polynomial (see References 2 and 3) which can be used to evaluate e^{Ft} , and which enables one to arrive at an exact expression for e^{Ft} without requiring matrix inversion, will be illustrated.

II. MATHEMATICAL BACKGROUND

The method to be used in evaluating e^{Ft} will be presented in this section, and an example will be worked to illustrate application of this method in comparison with the Laplace transform method. First though, some terms which must be defined are as follows:

(a) Annihilating Polynomial: An annihilating polynomial of a square matrix F is a scalar polynomial $f(\lambda)$ for which f(F) = 0.

(b) Monic Polynomial: A monic polynomial is a scalar polynomial $f(\lambda) = c_0 \lambda^k + c_1 \lambda^{k-1} + \dots + c_k$ in which $c_0 = 1$.

(c) Minimal Polynomial: A minimal polynomial of a matrix F is the monic annihilating polynomial of least degree.

(d) Spectrum: The spectrum of a matrix F is the set of characteristic values of F, i.e., the set of all scalars λ for which F- λI is not invertible.

A function $f(\lambda)$ is said to be defined on the spectrum of a matrix F if the values of the function $f(\lambda)$ on the spectrum of F exist, i.e., if the m numbers

$$f(\lambda_k), f'(\lambda_k), ---, f^{(m_k-1)}(\lambda_k)$$
 (k = 1, 2, ---, s)

have meaning, where s is the number of distinct characteristic values of F and m_k is the multiplicity of the k-th characteristic value in the minimal polynomial (see Reference 3).

The Lagrange-Sylvester interpolation polynomial for a function $f(\lambda)$ defined on the spectrum of a matrix F is a polynomial $r(\lambda)$ defined as

$$\mathbf{r}(\lambda) = \sum_{k=1}^{s} \left(\sum_{j=1}^{m_{k}} \mathbf{a}_{kj} (\lambda - \lambda_{k})^{j-1} \right) \Psi_{k}(\lambda), \qquad (9)$$

where

$$a_{kj} = \frac{1}{(j-1)!} \left[\frac{d^{j-1}}{d\lambda^{j-1}} \left(\frac{f(\lambda)}{\Psi_k(\lambda)} \right) \right]_{\lambda} (j = 1, 2, --, \mathbf{m}_k; k = 1, 2, --, s), \quad (10)$$

 $\Psi_k(\lambda)$ is the minimal polynomial of F with the λ_k term removed, and $r(\lambda)$ satisfies the conditions $r(\lambda_k) = f(\lambda_k)$, $r'(\lambda_k) = f'(\lambda_k)$, ---, $r^{(m_k-1)}(\lambda_k) = f^{(m_k-1)}(\lambda_k)$, (k = 1, 2, ---, s). The polynomial $r(\lambda)$ assumes the same values on the spectrum of F as does $f(\lambda)$ and one has f(F) = r(F).

If the equation for the coefficients (Equation (10)) is expanded and substituted into Equation (9), Equation (9) can be expressed (see Reference 3) in the form

$$\mathbf{r}(\lambda) = \sum_{k=1}^{s} \sum_{j=1}^{m_{k}} f^{(j-1)}(\lambda_{k})\phi_{kj}(\lambda)$$
(11)

where the $\phi_{kj}(\lambda)$ represent polynomials in λ , of degree less than m, which are completely determined when $\Psi(\lambda)$ is given and are independent of the choice of $f(\lambda)$. Equation (11) can be rewritten to obtain the fundamental formula for f(F) (see Reference 3):

$$f(F) = \sum_{k=1}^{s} \sum_{j=1}^{m_k} f^{(j-1)}(\lambda_k) Z_{kj}$$
(12)

where $Z_{kj} = \phi_{kj}(F)$ (j = 1, 2, ---, m_k ; k = 1, 2, ---, s). As for the $\phi_{kj}(\lambda)$ terms of Equation (11), the Z_{kj} matrices are completely determined by F and are independent of the choice of $f(\lambda)$. The Z_{kj} matrices are called (see Reference 3) the components of the given matrix F.

There are several methods by which the Z_{kj} matrices can be evaluated. The one which will be illustrated here is the method whereby certain simple polynomials for $f(\lambda)$ are successively substituted into the fundamental formula given by Equation (12). From the linear equations so generated the Z_{kj} matrices can be determined. For comparison, the Laplace transformation method for finding e^{Ft} will also be illustrated.

Example 1: Lagrange-Sylvester Method

Suppose one wishes to find an expression for e^{Ft} where F is given as

| | 0 | 1 | 0 | |
|-----|---|----|----|--------|
| F = | 0 | 0 | 1 | • (13) |
| ļ | 2 | -5 | 4_ | |

For this given matrix F one has $\Delta(\lambda) = \Psi(\lambda) = (\lambda-1)^2 (\lambda-2)$, thus, $\lambda_1 = 1$, $\lambda_2 = 2$, $m_1 = 2$ and $m_2 = 1$. Checking to see that $f(\lambda) = e^{\lambda t}$ is defined on the spectrum of F it is seen that, for the root $\lambda_1 = 1$ with $m_1 = 2$,

 $f(\lambda_1) = e^t$ exists and

 $f'(\lambda_1) = e^t$ exists.

Also, for $\lambda_2 = 2$ with $m_2 = 1$ it is seen that $f(\lambda_2) = e^{2t}$ exists. Hence, $f(\lambda) = e^{\lambda t}$ is defined on the spectrum of F.

Next, making use of Equation (12), f(F) can be written as

$$f(F) = e^{Ft} = f(1)Z_{11} + f'(1)Z_{12} + f(2)Z_{21}$$
(14)

and the components of F can be determined as follows. First, take $r(\lambda)$ to be $r(\lambda) = (\lambda-1)^2$. For this choice of $r(\lambda)$, one has

$$\mathbf{r}(\mathbf{F}) = (\mathbf{F} - \mathbf{I})^2 = \mathbf{Z}_{21}.$$
 (15)

If one next takes $r(\lambda)$ as $r(\lambda) = (\lambda-1)(\lambda-2)$ then one has

$$r(F) = (F-I)(F-2I) = (-1) Z_{12}$$

and, therefore,

$$Z_{12} = -(F-I)(F-2I) .$$
 (16)

Finally, take $r(\lambda)$ as $r(\lambda) = 1$. In this case, one has

$$r(F) = I = Z_{11} + Z_{21}$$

and Z_{11} is found to be

$$Z_{11} = I - Z_{21} = I - (F-I)^2.$$
(17)

If Equation (15), (16) and (17) are substituted into Equation (14), the resultant expression for e^{Ft} is found as

$$e^{Ft} = e^{\lambda_1 t} Z_{11} + t e^{\lambda_1 t} Z_{12} + e^{\lambda_2 t} Z_{21}$$

= [I-(F-I)²]e^t - [(F-I)(F-2I)]te^t + (F-I)² e^{2t} • (18)

Performing the matrix multiplication indicated in Equation (18) will result in the following expression for e^{Ft} :

$$e^{Ft} = \begin{bmatrix} 0 & 2 & -1 \\ -2 & 5 & -2 \\ -4 & 8 & -3 \end{bmatrix} e^{t} - \begin{bmatrix} 2 & -3 & 1 \\ 2 & -3 & 1 \\ 2 & -3 & 1 \end{bmatrix} te^{t} + \begin{bmatrix} 1 & -2 & 1 \\ 2 & -4 & 2 \\ 4 & -8 & 4 \end{bmatrix} e^{2t}$$
$$= \begin{bmatrix} -2te^{t} + e^{2t} & (2+3t)e^{t} - 2e^{2t} & (-1-t)e^{t} + e^{2t} \\ (-2-2t)e^{t} + 2e^{2t} & (5+3t)e^{t} - 4e^{2t} & (-2-t)e^{t} + 2e^{2t} \\ (-4-2t)e^{t} + 4e^{2t} & (8+3t)e^{t} - 8e^{2t} & (-3-t)e^{t} + 4e^{2t} \end{bmatrix}.$$
(19)

Example 2: Laplace Transform Method

To evaluate e^{Ft} using the Laplace transform method given by Equation (7), the sequence of operations to be performed would be as follows. First, form the matrix (sI-F) as

 $(sI-F) = \begin{bmatrix} s & -1 & 0 \\ 0 & s & -1 \\ -2 & 5 & s-4 \end{bmatrix}.$

The determinant of (sI-F) is $\Delta(s) = (s-1)^2$ (s-2). The matrix inverse, $(sI-F)^{-1}$, must next be calculated and is found to be

$$(sI-F)^{-1} = \frac{1}{(s-1)^2(s-2)} \begin{bmatrix} s^2 - 4s + 5 & s-4 & 1 \\ 2 & s(s-4) & s \\ 2s & -5s + 2 & s^2 \end{bmatrix}.$$
 (20)

The expression for e^{Ft} is calculated by taking the inverse Laplace transform of each term of $(sI-F)^{-1}$. If Equation (20) is expanded using partial fractions, the result is given by

$$(sI-F)^{-1} = \begin{bmatrix} -\frac{2}{(s-1)^2} + \frac{1}{s-2} & \frac{3}{(s-1)^2} + \frac{2}{s-1} - \frac{2}{s-2} \left(-\frac{1}{(s-1)^2} - \frac{1}{s-1} + \frac{1}{s-2} \right) \\ -\frac{2}{(s-1)^2} - \frac{2}{s-1} + \frac{2}{s-2} & \frac{3}{(s-1)^2} + \frac{5}{s-1} - \frac{4}{s-2} \left(-\frac{1}{(s-1)^2} - \frac{2}{s-1} + \frac{2}{s-2} \right) \\ -\frac{2}{(s-1)^2} - \frac{4}{s-1} + \frac{4}{s-2} & \frac{3}{(s-1)^2} + \frac{8}{s-1} - \frac{8}{s-2} \left(-\frac{1}{(s-1)^2} - \frac{3}{s-1} + \frac{4}{s-2} \right) \end{bmatrix}$$
(21)

and taking the inverse Laplace transform of each term then gives the final expression for e^{Ft} as

$$\mathbf{e}^{\mathbf{Ft}} = \begin{bmatrix} -2\mathbf{t}\mathbf{e}^{\mathbf{t}} + \mathbf{e}^{2\mathbf{t}} & (3\mathbf{t}+2)\mathbf{e}^{\mathbf{t}} - 2\mathbf{e}^{2\mathbf{t}} & (-\mathbf{t}-1)\mathbf{e}^{\mathbf{t}} + \mathbf{e}^{2\mathbf{t}} \\ (-2\mathbf{t}-2)\mathbf{e}^{\mathbf{t}} + 2\mathbf{e}^{2\mathbf{t}} & (3\mathbf{t}+5)\mathbf{e}^{\mathbf{t}} - 4\mathbf{e}^{2\mathbf{t}} & (-\mathbf{t}-2)\mathbf{e}^{\mathbf{t}} + 2\mathbf{e}^{2\mathbf{t}} \\ (-2\mathbf{t}-4)\mathbf{e}^{\mathbf{t}} + 4\mathbf{e}^{2\mathbf{t}} & (3\mathbf{t}+8)\mathbf{e}^{\mathbf{t}} - 8\mathbf{e}^{2\mathbf{t}} & (-\mathbf{t}-3)\mathbf{e}^{\mathbf{t}} + 4\mathbf{e}^{2\mathbf{t}} \end{bmatrix}$$
(22)

Comparing Equations (22) and (19), it is seen that both approaches result in the same answer; however, evaluation of e^{Ft} using the Laplace transform method involves more of a computation burden than does the method using matrix components, even for a 3x3 matrix.

III. TARGET MODEL STATE TRANSITION MATRIX EVALUATION

A. Introduction

Ţ

In this section the matrix exponential e^{Ft} , with F as defined in Equation (4), will be evaluated to obtain an exact expression for the target state transition matrix for several different combinations of λ_x , λ_y , λ_z . The first step in the process is to evaluate the determinant of $(F-\lambda I)$ as

$$\begin{vmatrix} \mathbf{F} - \lambda \mathbf{I} \end{vmatrix} = \begin{vmatrix} -\lambda \mathbf{I} & \mathbf{I} & \mathbf{0} \\ 0 & -\lambda \mathbf{I} & \mathbf{I} \\ \hline & & -\lambda_{\mathbf{x}} - \lambda & \mathbf{0} & \mathbf{0} \\ 0 & 0 & 0 & -\lambda_{\mathbf{y}} - \lambda & \mathbf{0} \\ 0 & 0 & 0 & -\lambda_{\mathbf{y}} - \lambda & \mathbf{0} \\ 0 & 0 & 0 & -\lambda_{\mathbf{y}} - \lambda \\ = \lambda^{6} [\lambda^{3} + (\lambda_{\mathbf{x}} + \lambda_{\mathbf{y}} + \lambda_{\mathbf{z}})\lambda^{2} + (\lambda_{\mathbf{x}} \lambda_{\mathbf{y}} + \lambda_{\mathbf{x}} \lambda_{\mathbf{z}} + \lambda_{\mathbf{y}} \lambda_{\mathbf{z}})\lambda + \lambda_{\mathbf{x}} \lambda_{\mathbf{y}} \lambda_{\mathbf{z}}].$$
(23)

The characteristic values, therefore, are given by

$$\lambda_1 = \lambda_2 = \lambda_3 = \lambda_4 = \lambda_5 = \lambda_6 = 0, \ \lambda_7 = -\lambda_x, \ \lambda_8 = -\lambda_y, \ \lambda_9 = -\lambda_z.$$
(24)

The next step is to determine the minimal polynomial of F. The minimal polynomial of a matrix will contain each of the distinct characteristic values of the matrix with a multiplicity not greater than each root has in the characteristic polynomial. The candidate choices for the minimal polynomial of F are thus:

$$\begin{array}{c} (\lambda+\lambda_{\mathbf{x}})(\lambda+\lambda_{\mathbf{y}})(\lambda+\lambda_{\mathbf{z}})\lambda \\ (\lambda+\lambda_{\mathbf{x}})(\lambda+\lambda_{\mathbf{y}})(\lambda+\lambda_{\mathbf{z}})\lambda^{2} \\ \\ (\lambda+\lambda_{\mathbf{x}})(\lambda+\lambda_{\mathbf{y}})(\lambda+\lambda_{\mathbf{z}})\lambda^{6} \end{array}$$

$$(25)$$

and the actual minimal polynomial will depend on the values chosen for $\lambda_{\chi},$ $\lambda_{y},$ $\lambda_{z}.$

B. Case With $\lambda_{\boldsymbol{x}},\;\lambda_{\boldsymbol{y}},\;\lambda_{\boldsymbol{z}}$ Positive, Unequal

المراجع محمد الم

Using each of the expressions in Equation (25) in turn, $\Psi(F)$ is evaluated to determine which expression will result in $\Psi(F) \equiv 0$. Upon performing this procedure, the minimal polynomial (for the λ 's of this section) is found to be

$$\Psi(\lambda) = \lambda^2 (\lambda + \lambda_x) (\lambda + \lambda_y) (\lambda + \lambda_z).$$
⁽²⁶⁾

The fundamental formula for f(F), as given by Equation (12), will therefore be

$$f(F) = f(\lambda_1)Z_{11} + f^{\dagger}(\lambda_1)Z_{12} + f(\lambda_2)Z_{21} + f(\lambda_3)Z_{31} + f(\lambda_4)Z_{41}$$

= f(0)Z_{11} + f^{\dagger}(0)Z_{12} + f(-\lambda_x)Z_{21} + f(-\lambda_y)Z_{31} + f(-\lambda_z)Z_{41}. (27)

For $f(\lambda) = e^{\lambda t}$ one has $f(F) = e^{Ft}$ so that, using Equation (27),

$$e^{Ft} = e^{\lambda_1 t} Z_{11} + t e^{\lambda_1 t} Z_{12} + e^{\lambda_2 t} Z_{21} + e^{\lambda_3 t} Z_{31} + e^{\lambda_4 t} Z_{41}$$

= (Z₁₁+tZ₁₂) + $e^{-\lambda_x t} Z_{21} + e^{-\lambda_y t} Z_{31} + e^{-\lambda_z t} Z_{41}$. (28)

The components of F can now be found by choosing simple polynomials for $r(\lambda)$. This process is illustrated in the following steps for $r(\lambda) = r(\lambda_1)Z_{11} + r'(\lambda_1)Z_{12} + r(\lambda_2)Z_{21} + r(\lambda_3)Z_{31} + r(\lambda_4)Z_{41}$.

1.
$$r(\lambda) = \lambda(\lambda+\lambda_x)(\lambda+\lambda_y)(\lambda+\lambda_z)$$

 $r'(\lambda) = 4\lambda^3 + 3(\lambda_x+\lambda_y+\lambda_z)\lambda^2 + 2(\lambda_x\lambda_y+\lambda_x\lambda_z+\lambda_y\lambda_z)\lambda + \lambda_x\lambda_y\lambda_z$
 $F(F+\lambda_xI)(F+\lambda_yI)(F+\lambda_zI) = (0)Z_{11} + \lambda_x\lambda_y\lambda_zZ_{12} + (0)Z_{21} + (0)Z_{31} + (0)Z_{41}$

$$Z_{12} = \frac{1}{\lambda_{x} \lambda_{y} \lambda_{z}} \left[F(F + \lambda_{x} I)(F + \lambda_{y} I)(F + \lambda_{z} I) \right]$$
(29)

2.
$$r(\lambda) = (\lambda + \lambda_x)(\lambda + \lambda_y)(\lambda + \lambda_z)$$

 $r'(\lambda) = 3\lambda^2 + 2(\lambda_x + \lambda_y + \lambda_z)\lambda + (\lambda_x\lambda_y + \lambda_x\lambda_z + \lambda_y\lambda_z)$
 $(F + \lambda_x I)(F + \lambda_y I)(F + \lambda_z I) = \lambda_x\lambda_y\lambda_z Z_{11} + (\lambda_x\lambda_y + \lambda_x\lambda_z + \lambda_y\lambda_z)Z_{12}$
 $+(0)Z_{21} + (0)Z_{31} + (0)Z_{41}$

$$Z_{11} = (\lambda_{\mathbf{x}}\lambda_{\mathbf{y}}\lambda_{\mathbf{z}})^{-1} \left[I - \left(\frac{\lambda_{\mathbf{x}}\lambda_{\mathbf{y}} + \lambda_{\mathbf{x}}\lambda_{\mathbf{z}} + \lambda_{\mathbf{y}}\lambda_{\mathbf{z}}}{\lambda_{\mathbf{x}}\lambda_{\mathbf{y}}\lambda_{\mathbf{z}}} \right) F \right] (F + \lambda_{\mathbf{x}}I) (F + \lambda_{\mathbf{y}}I) (F + \lambda_{\mathbf{z}}I)$$
(30)

3.
$$r(\lambda) = \lambda(\lambda + \lambda_y)(\lambda + \lambda_z)$$

$$r^{*}(\lambda) = 3\lambda^{2} + 2(\lambda_{y}+\lambda_{z})\lambda + \lambda_{y}\lambda_{z}$$

$$F(F+\lambda_{y}I)(F+\lambda_{z}I) = \lambda_{y}\lambda_{z}Z_{12} + [-\lambda^{3}_{x}+(\lambda_{y}+\lambda_{z})\lambda^{2}_{x}-\lambda_{x}\lambda_{y}\lambda_{z}]Z_{21}$$

$$Z_{21} = [-\lambda^{3}_{x}+(\lambda_{y}+\lambda_{z})\lambda^{2}_{x}-\lambda_{x}\lambda_{y}\lambda_{z}]^{-1}F\left[I - \frac{1}{\lambda_{x}}(F+\lambda_{x}I)\right](F+\lambda_{y}I)(F+\lambda_{z}I)$$
(31)

4.
$$r(\lambda) = \lambda(\lambda + \lambda_{x})(\lambda + \lambda_{z})$$

$$r'(\lambda) = 3\lambda^{2} + 2(\lambda_{x} + \lambda_{z})\lambda + \lambda_{x}\lambda_{z}$$

$$F(F + \lambda_{x}I)(F + \lambda_{z}I) = \lambda_{x}\lambda_{z}Z_{12} + (-\lambda_{y})[\lambda^{2}y^{-}(\lambda_{x} + \lambda_{z})\lambda_{y} + \lambda_{x}\lambda_{z}]Z_{31}$$

$$Z_{31} = [-\lambda^{3}y^{+}(\lambda_{x} + \lambda_{z})\lambda^{2}y^{+}\lambda_{x}\lambda_{y}\lambda_{z}]^{-1}F\left[(F + \lambda_{x}I)(F + \lambda_{z}I) - (\frac{1}{\lambda_{y}})(F + \lambda_{x}I)(F + \lambda_{y}I)(F + \lambda_{z}I)\right]$$
(32)

5.
$$r(\lambda) = \lambda(\lambda + \lambda_{x})(\lambda + \lambda_{y})$$

 $r'(\lambda) = 3\lambda^{2} + 2(\lambda_{x} + \lambda_{y})\lambda + \lambda_{x}\lambda_{y}$
 $F(F + \lambda_{x}I)(F + \lambda_{y}I) = \lambda_{x}\lambda_{y}Z_{12} + (-\lambda_{z})[\lambda^{2}z - (\lambda_{x} + \lambda_{y})\lambda_{z} + \lambda_{x}\lambda_{y}]Z_{41}$
 $Z_{41} = [-\lambda^{3}z + (\lambda_{x} + \lambda_{y})\lambda^{2}z - \lambda_{x}\lambda_{y}\lambda_{z}]^{-1}F[(F + \lambda_{x}I)(F + \lambda_{y}I) - (\frac{1}{\lambda_{z}})(F + xI)(F + \lambda_{y}I)(F + \lambda_{z}I)].$
(33)

Þ

If Equations (29) through (33) are now substituted into Equation (28) the desired expression for e^{Ft} will be obtained as

$$e^{Ft} = \left(\frac{1}{\lambda_{x}\lambda_{y}\lambda_{z}}\right)(F+\lambda_{x}I)(F+\lambda_{y}I)(F+\lambda_{z}I) + \frac{e^{-\lambda_{x}t}}{[-\lambda^{3}_{x}+(\lambda_{y}+\lambda_{z})\lambda^{2}_{x}-\lambda_{x}\lambda_{y}\lambda_{z}]}F(F+\lambda_{y}I)(F+\lambda_{z}I) + \frac{e^{-\lambda_{y}t}}{[-\lambda^{3}_{y}+(\lambda_{x}+\lambda_{z})\lambda^{2}_{y}-\lambda_{x}\lambda_{y}\lambda_{z}]}F(F+\lambda_{x}I)(F+\lambda_{z}I) + \frac{e^{-\lambda_{z}t}}{[-\lambda^{3}_{z}+(\lambda_{x}+\lambda_{y})\lambda^{2}_{z}-\lambda_{x}\lambda_{y}\lambda_{z}]}F(F+\lambda_{x}I)(F+\lambda_{y}I) - \left[\frac{\lambda_{x}\lambda_{y}+\lambda_{x}\lambda_{z}+\lambda_{y}\lambda_{z}}{(\lambda_{x}\lambda_{y}\lambda_{z})^{2}}-\frac{t}{\lambda_{x}\lambda_{y}\lambda_{z}}+\frac{e^{-\lambda_{x}t}}{[-\lambda^{4}_{x}+(\lambda_{y}+\lambda_{z})\lambda^{3}_{x}-\lambda_{y}\lambda_{z}\lambda^{2}_{x}]} + \frac{e^{-\lambda_{y}t}}{[-\lambda^{4}_{y}+(\lambda_{x}+\lambda_{z})\lambda^{3}_{y}-\lambda_{x}\lambda_{z}\lambda^{2}_{y}]} + \frac{e^{-\lambda_{z}t}}{[-\lambda^{4}_{z}+(\lambda_{x}+\lambda_{y})\lambda^{3}_{z}-\lambda_{x}\lambda_{y}\lambda^{2}_{z}]}F(F+\lambda_{x}I)(F+\lambda_{y}I)(F+\lambda_{z}I).$$
(34)

Equation (34) seems formidable; however, if specific values are substituted for λ_x , λ_y , λ_z the coefficient terms simplify. Equation (34) mainly involves several combinations of matrix multiplication. However, for the general case indicated in Equation (34), when the matrix multiplications are performed and the terms are combined as indicated, the resulting exact expression for the state transition matrix (for the λ 's of this section) is as shown in Equation (35).

| o | <u>)e^{-λ}yt</u> 2 ^{2λ2]} 0 | $\frac{t}{\lambda_{z}} - \frac{1}{\lambda_{z}^{2}} + \frac{(-\lambda_{z}^{2} + \lambda_{z})_{x} + \lambda_{z} + y_{-} \lambda_{x} + \lambda_{y})}{[-\lambda_{z}^{4} + (\lambda_{x} + \lambda_{y}) \lambda_{z}^{3} - \lambda_{x} \lambda_{y} \lambda_{z}]}$ | 0 | | $\frac{1}{\lambda_z} - \frac{(-\lambda^z_z + \lambda_z \lambda_x + \lambda_z \lambda_y - \lambda_x \lambda_y)^2 e^{-z}}{(-\lambda^3_z + (\lambda_x + \lambda_y) \lambda^2_z - \lambda_x \lambda_y \lambda_z)}$ | 0 | | $\frac{\lambda_{\mathbf{z}}(-\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{y}}^{\prime}\lambda_{\mathbf{x}}^{\prime}\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}}{[-\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}\lambda_{\mathbf{z}}^{\prime}]}$ |
|--|---|--|--|--|--|---|--|--|
| 0 | $\frac{t}{\lambda_y} - \frac{1}{\lambda^2_y} + \frac{(-\lambda^2_y + \lambda_x \lambda_y + \lambda_z \lambda_y - \lambda_x \lambda_z}{[-\lambda^4_y + (\lambda_x + \lambda_z)\lambda^3_y - \lambda_x \lambda_z]}$ | 0 | 0 | $\frac{1}{\lambda_{y}} - \frac{(-\lambda^{2}y + \lambda_{y}\lambda_{z} + \lambda_{y}\lambda_{z})e}{[-\lambda^{3}y + (\lambda_{x} + \lambda_{z})\lambda^{2}y - \lambda_{x}\lambda_{y}\lambda_{y})}$ | 0 | 0 | $\frac{\lambda_y(-\lambda^2_y - \lambda_x \lambda_z + \lambda_x \lambda_y + \lambda_y \lambda_z) e^{-\alpha}}{[-\lambda^3_y + (\lambda_x + \lambda_z) \lambda^2_y - \lambda_x \lambda_y \lambda_z]}$ | 0 |
| $\frac{t}{\lambda_{v}} - \frac{1}{\lambda^{2}_{v}} + \frac{(-\lambda^{2}_{x} + \lambda_{x} \lambda_{y} + \lambda_{x} \lambda_{z} - \lambda_{y} \lambda_{z})e^{-\lambda_{x} i}}{(-\lambda^{4}_{v} + (\lambda_{v} + \lambda_{z})\lambda^{3}_{z} - \lambda^{2}_{z} \lambda_{v} \lambda_{z})}$ | | 0 | $\frac{1}{\lambda_{x}} - \frac{(-\lambda^{2}_{x}+\lambda_{x}\lambda_{z}+\lambda_{x}\lambda_{y}-\lambda_{y}\lambda_{z})e^{-\lambda_{x}t}}{[-\lambda^{3}_{x}+(\lambda_{y}+\lambda_{z})\lambda^{2}_{x}-\lambda_{x}\lambda_{y}\lambda_{z}]}$ | o | O | $\frac{\lambda_x(-\lambda^2_x+\lambda_x\lambda_y+\lambda_x\lambda_z-\lambda_y\lambda_z)e^{-\lambda_xt}}{[-\lambda^3_x+(\lambda_y+\lambda_z)\lambda^2_x-\lambda_x\lambda_y\lambda_z]}$ | Q | 0 |
| • | 0 | 0 | 0 | 0 | | 0 | 0 | 0 |
| د د | 4 | 4 0 | 7 | 0 | 0 | 0 | 0 | 0 |
| 0 | 0 | - | 0 | 0 | 0 | 0 | 0 | 0 |
| 0 | T | 0 | • | 0 | 0 | • | 0 | 0 |
| | <u> </u> | <u> </u> | | <u> </u> | <u> </u> | <u> </u> | ° | 0 |
| | | | | eFt = | | | | |

(35)

11

C. Case With λ_x , λ_y , λ_z Positive, Equal

ł

For the case where λ_{χ} = λ_{y} = $\lambda_{z},$ the minimal polynomial of F is found to be

$$\Psi(\lambda) = \lambda^2 (\lambda + \lambda_x) \tag{36}$$

and the fundamental formula for f(F), as given by Equation (12), is as follows,

$$f(F) = f(\lambda_1)Z_{11} + f'(\lambda_1)Z_{12} + f(\lambda_2)Z_{21}$$

= f(0)Z_{11} + f'(0)Z_{12} + f(-\lambda_x)Z_{21}. (37)

If one again chooses $f(\lambda) = e^{\lambda t}$ then one has $f(F) = e^{Ft}$ so that, using Equation (37)

$$e^{Ft} = Z_{11} + tZ_{12} + e^{-\Lambda_{\pi} t} Z_{21}.$$
(38)

The components of F can be found by using the same procedure as in paragraph B, with $r(\lambda)$ given as $r(\lambda) = r(\lambda_1)Z_{11} + r'(\lambda_1)Z_{12} + r(\lambda_2)Z_{21}$. Proceeding as in paragraph B above, one has the following results.

1.
$$r(\lambda) = 1$$

 $r'(\lambda) = 0$
 $I = Z_{11} + Z_{21}$ (39)
2. $r(\lambda) = \lambda(\lambda + \lambda_x)$
 $r'(\lambda) = 2\lambda + \lambda_x$
 $F(F + \lambda_x I) = Z_{12}$ (40)
3. $r(\lambda) = \lambda^2$
 $r'(\lambda) = 2\lambda$
 $F^2 = Z_{21}$ (41)

From steps (1) and (3), Z_{11} may be found to be

$$Z_{11} = I - F^2.$$
 (42)

If Equations (40) through (42) are substituted into Equation (38), the expression for e^{Ft} will be obtained as

$$e^{Ft} = I - F^2 + F^2t + Ft + e^{-\lambda x^{t}}F^2$$

= I + (e^{-\lambda x^{t}}+t-1)F^2 + Ft (43)

When Equation (43) is expanded, the resultant matrix expression for e^{Ft} (for the λ 's of this paragraph) is as follows,

| | | | | | | | | | - |
|------|---------------------------------------|---|---|---|---|---|---|---|-----|
| | 1 | 0 | 0 | t | 0 | 0 | a | 0 | 0 |
| | 0 | 1 | 0 | 0 | t | 0 | 0 | a | 0 |
| | 0 | 0 | 1 | 0 | 0 | t | 0 | 0 | a |
| | | | | 1 | 0 | 0 | Ъ | 0 | 0 |
| Ft = | | 0 | | 0 | 1 | 0 | 0 | Ъ | 0 |
| | · · · · · · · · · · · · · · · · · · · | | | 0 | 0 | 1 | 0 | 0 | Ъ |
| | | | | | | | c | 0 | 0 |
| | | 0 | | | 0 | | 0 | с | 0 |
| | | | | | | | 0 | 0 | ͺ c |

where

$$a = t - 1 + e^{-\lambda_{\mathbf{X}}t}$$
(45)

$$\mathbf{b} = (1 - \lambda_{\mathbf{x}})\mathbf{t} + (1 - e^{-\lambda_{\mathbf{x}} \mathbf{t}})\lambda_{\mathbf{x}}$$
(46)

$$c = 1 + (e^{-\lambda_{x}t} - 1)\lambda_{x}^{2} + (\lambda_{x} - 1)\lambda_{x}t.$$
(47)

D. Case With One Root Zero; Remaining Roots Positive, Unequal

To begin this paragraph, assume that $\lambda_y = 0$ and that λ_x and λ_z are positive, unequal. Based on this assumption the minimal polynomial of F is found to be

$$\Psi(\lambda) = \lambda^3 (\lambda + \lambda_x) (\lambda + \lambda_z).$$
⁽⁴⁸⁾

For the conditions of this paragraph, the fundamental formula for f(F) is

$$f(F) = f(-\lambda_x)Z_{11} + f(0)Z_{21} + f'(0)Z_{22} + f''(0)Z_{23} + f(-\lambda_z)Z_{31}$$
(49)

and e^{Ft} will be given by

$$e^{Ft} = e^{-\lambda_{x}t}Z_{11} + Z_{21} + tZ_{22} + t^{2}Z_{23} + e^{-\lambda_{z}t}Z_{31}.$$
 (50)

The components of F are again found by the same procedure used in paragraphs B and C where, in this paragraph, $r(\lambda)$ is given by $r(\lambda) = r(-\lambda_x)Z_{11} + r(0)Z_{21} + r'(0)Z_{22} + r''(0)Z_{23} + r(-\lambda_z)Z_{31}$.

1. $r(\lambda) = \lambda^3(\lambda + \lambda_x)$

.

If Equations (51) through (55) are substituted into Equation (50), the desired expression for e^{Ft} (for the λ 's of this paragraph) is given in matrix form as shown in Equation (56).

| | 100 | t 0 0 | $a\lambda^2 x^{-b\lambda} x^{+1/2t^2}$ | 0 | 0 | |
|-------------------|-----|-------|--|-------------------|---|------|
| | 010 | 0 t 0 | 0 | 1/2t ² | 0 | |
| | 001 | 0 0 t | 0 | 0 | $a\lambda^2_z$ -b λ_z +1/2t ² | |
| | | 100 | $-a\lambda^3 x+b\lambda^2 x^{-1/2\lambda}xt^{2+t}$ | 0 | 0 | |
| e ^{Ft} = | 0 | 010 | 0 | t | 0 | (56) |
| | | 001 | 0 | 0 | $-a\lambda^3_z+b\lambda^2_z-1/2\lambda_zt^2+t$ | |
| | | | $a\lambda^4 x^{-b\lambda^3} x^{+1/2\lambda^2} x^{t^2-\lambda} x^{t+1}$ | 0 | 0 | • |
| | 0 | 0 | 0 | 1 | 0 | |
| | | | 0 | 0 | $a\lambda^4_z$ - $b\lambda^3_z$ + $1/2\lambda^2_z$ t ² - λ_z t+1 | |

where

and the second second

$$a = \frac{e^{-\lambda_{\mathbf{x}}t}}{\lambda^{3}_{\mathbf{x}}(\lambda_{\mathbf{x}}-\lambda_{\mathbf{z}})} + \left(\frac{\lambda^{2}_{\mathbf{x}}+\lambda_{\mathbf{x}}\lambda_{\mathbf{z}}+\lambda^{2}_{\mathbf{z}}}{\lambda^{3}_{\mathbf{x}}\lambda^{3}_{\mathbf{z}}}\right) - \left(\frac{\lambda_{\mathbf{x}}+\lambda_{\mathbf{z}}}{\lambda^{2}_{\mathbf{x}}\lambda^{2}_{\mathbf{z}}}\right)t + \frac{t^{2}}{2\lambda_{\mathbf{x}}\lambda_{\mathbf{z}}} - \frac{e^{-\lambda_{\mathbf{z}}t}}{\lambda^{3}_{\mathbf{z}}(\lambda_{\mathbf{x}}-\lambda_{\mathbf{z}})}$$

$$b = \frac{\lambda_{\mathbf{z}}e^{-\lambda_{\mathbf{x}}t}}{\lambda^{3}_{\mathbf{x}}(\lambda_{\mathbf{x}}-\lambda_{\mathbf{z}})} + \left(\frac{\lambda^{3}_{\mathbf{x}}+\lambda^{2}_{\mathbf{x}}\lambda_{\mathbf{z}}+\lambda_{\mathbf{x}}\lambda^{2}_{\mathbf{z}}+\lambda^{3}_{\mathbf{z}}}{\lambda^{3}_{\mathbf{x}}\lambda^{3}_{\mathbf{z}}}\right) - \left(\frac{\lambda^{2}_{\mathbf{x}}+\lambda_{\mathbf{x}}\lambda_{\mathbf{z}}+\lambda^{2}_{\mathbf{z}}}{\lambda^{2}_{\mathbf{x}}\lambda^{2}_{\mathbf{z}}}\right)t + \left(\frac{\lambda_{\mathbf{x}}+\lambda_{\mathbf{z}}}{\lambda^{2}_{\mathbf{x}}\lambda^{2}_{\mathbf{z}}}\right)t^{2} - \frac{\lambda_{\mathbf{x}}e^{-\lambda_{\mathbf{z}}t}}{\lambda^{3}_{\mathbf{z}}(\lambda_{\mathbf{x}}-\lambda_{\mathbf{z}})}.$$

For a case where λ_x = 0, with $\lambda_y, \, \lambda_z$ positive, unequal, the minimal polynomial of F is

$$\Psi(\mathbf{F}) = \lambda^{3} (\lambda + \lambda_{\mathbf{v}}) (\lambda + \lambda_{\mathbf{z}})$$
(57)

and the fundamental formula for f(F) is given by

$$f(F) = f(0)Z_{11} + f'(0)Z_{12} + f''(0)Z_{13} + f(\neg\lambda_v)Z_{21} + f(\neg\lambda_z)Z_{31} .$$
(58)

In a similar fashion, for λ_z = 0 and $\lambda_x, \, \lambda_y$ positive, unequal, the minimal polynomial of F is

$$\Psi(\lambda) = \lambda^{3}(\lambda + \lambda_{X})(\lambda + \lambda_{Y})$$
(59)

and the fundamental formula for f(F) is given by

~

$$f(F) = f(-\lambda_x)Z_{11} + f(-\lambda_y)Z_{21} + f(0)Z_{31} + f'(0)Z_{32} + f''(0)Z_{33} .$$
(60)

The expressions for e^{Ft} corresponding to Equations (58) and (60) are given in Equations (61) and (62), respectively.

$$\mathbf{a}^{\mathbf{Ft}} = \begin{bmatrix} 1 & 0 & 0 & 1/2t^2 & 0 & 0 \\ 0 & 1 & 0 & 0 & t & 0 & 0 & a\lambda^2y - b\lambda y + 1/2t^2 & 0 \\ 0 & 0 & 1 & 0 & 0 & t & 0 & 0 & a\lambda^2z - b\lambda z + 1/2t^2 \\ \hline & 1 & 0 & 0 & t & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & -a\lambda^3y + b\lambda^2y - 1/2t^2\lambda y + t & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & -a\lambda^3z + b\lambda^2z - 1/2t^2\lambda z + t \\ \hline & & & 1 & 0 & 0 & 0 \\ 0 & 0 & a\lambda^4y - b\lambda^3y + \frac{t^2}{2}\lambda^2y - \lambda y t + 1 & 0 & 0 \\ 0 & 0 & 0 & a\lambda^4y - b\lambda^3y + \frac{t^2}{2}\lambda^2y - \lambda y t + 1 & 0 \\ 0 & 0 & 0 & a\lambda^4z - b\lambda^3z + \frac{t^2}{2}\lambda^2z - \lambda z t + 1 \end{bmatrix}$$
(61)

where

Ŀ.

Ċ.

where

$$a = \left(\frac{1}{\lambda_{x} - \lambda_{y}}\right) \left(\frac{e^{-\lambda_{x}t}}{\lambda_{x}^{3}} - \frac{e^{-\lambda_{y}t}}{\lambda_{y}^{3}}\right) + \frac{t^{2}}{2\lambda_{x}\lambda_{y}} - \left(\frac{\lambda_{x} + \lambda_{y}}{\lambda_{x}^{2}\lambda_{y}^{2}}\right)t + \left(\frac{\lambda_{x}^{2} + \lambda_{x}\lambda_{y} + \lambda_{x}^{2}}{\lambda_{x}^{3}\lambda_{y}^{3}}\right)$$

$$b = \frac{\lambda_{y}e^{-\lambda_{x}t}}{\lambda_{x}^{3}(\lambda_{x} - \lambda_{y})} - \frac{\lambda_{x}e^{-\lambda_{y}t}}{\lambda_{y}^{3}(\lambda_{x} - \lambda_{y})} + \left(\frac{\lambda_{x} + \lambda_{y}}{2\lambda_{x}\lambda_{y}}\right)t^{2} - \left(\frac{\lambda_{x}^{2} + \lambda_{x}\lambda_{y} + \lambda_{x}^{2}}{\lambda_{x}^{2}\lambda_{y}^{2}}\right)t + \left(\frac{\lambda_{x}^{3} + \lambda_{x}^{2}\lambda_{y}^{2} + \lambda_{x}^{2}\lambda_{y}^{2} + \lambda_{x}^{2}\lambda_{y}^{2}}{\lambda_{x}^{3}\lambda_{y}^{3}}\right)$$

E. Case With One Root Zero; Remaining Roots Positive, Equal

For a case with, for instance, λ_X = 0, λ_y = λ_z > 0, the minimal polynomial of F is found to be

$$\Psi(\lambda) = \lambda^{3}(\lambda + \lambda_{\gamma})$$
(63)

and the fundamental formula for f(F) is thus given by

$$f(F) - f(0)Z_{11} + f'(0)Z_{12} + f''(0)Z_{13} + f(-\lambda_y)Z_{21}.$$
 (64)

The expression for e^{Ft} is, therefore, given as

~

$$e^{Ft} = Z_{11} + tZ_{12} + t^2 Z_{13} + e^{-\lambda_y t} Z_{21}$$
(65)

and the components of F can be found as follows:

 $I = Z_{11} + Z_{21}$

1.
$$r(\lambda) = \lambda^{3}$$

 $r'(\lambda) = 3\lambda^{2}$; $r''(\lambda) = 6\lambda$
 $F^{3} = -\lambda^{3}yZ_{21}$
 $Z_{21} = -\left(\frac{1}{\lambda^{3}y}\right)F^{3}$ (66)
2. $r(\lambda) = \lambda^{2}(\lambda+\lambda_{y})$
 $r'(\lambda) = 3\lambda^{2} + 2\lambda_{y}\lambda$; $r''(\lambda) = 6\lambda + 2\lambda_{y}$
 $F^{2}(F+\lambda_{y}I) = 2\lambda_{y}Z_{13}$
 $Z_{13} = \left(\frac{1}{2\lambda_{y}}\right)F^{2}(F+\lambda_{y}I)$ (67)
3. $r(\lambda) = 1$
 $r''(\lambda) = r''(\lambda) = 0$

$$Z_{11} = I + \left(\frac{1}{\lambda^3 y}\right) F^3$$
(68)

4.
$$r(\lambda) = \lambda(\lambda + \lambda_y)$$

 $r'(\lambda) = 2\lambda + \lambda_y ; r'(\lambda) = 2$
 $F(F + \lambda_y I) = \lambda_y Z_{12} + 2Z_{13}$
 $Z_{12} = \left(\frac{1}{\lambda_y}\right) F(F + \lambda_y I) - \left(\frac{1}{\lambda_y^2}\right) F^2(F + \lambda_y I).$ (69)

If one substitutes Equations (66) through (69) into Equation (65), the desired matrix expression for e^{Ft} can be written as shown in Equation (70).

| 1 | 100 | t 0 0 | 1/2t ² | 0 | 0 - | ן |
|-------------------|-----|-------|-------------------|---|--|------|
| | 010 | 0 t 0 | 0 | $1/2t^{2-a\lambda_{y}}$ | 0 | |
| | 001 | 0 0 t | 0 | 0 | $\frac{1}{2t^2-a\lambda_y}$ | |
| | | 100 | t | 0 | 0 | |
| e ^{Ft} = | o | 010 | 0 | $t-1/2t^{2\lambda}y+a\lambda^{2}y$ | 0 | (70) |
| | | 001 | 0 | 0 | $t-1/2t^2\lambda_y+a\lambda^2_y$ | |
| | | | 1 | 0 | 0 | |
| | 0 | 0 | 0 | $1-\lambda_y t + \frac{t^2}{2}\lambda^2 y - a\lambda^3 y$ | 0 | |
| | L | | 0 | 0 | $1-\lambda_y t + \frac{t^2}{2}\lambda^2 y^{-a\lambda^3} y$ | |

where

.

$$a = \frac{1}{\lambda^3_y} - \frac{t}{\lambda^2_y} + \frac{t^2}{2\lambda_y} - \frac{e^{-\lambda_y t}}{\lambda^3_y}$$

If one has a case with λ_z = 0, λ_x = λ_y > 0, then e^{Ft} is as shown in Equation (71).

Ŀ

$$\mathbf{e}^{\mathbf{Ft}} = \begin{bmatrix} 1 & 0 & 0 & | & \frac{t^2}{2} - a\lambda_{\mathbf{X}} & 0 & 0 \\ 0 & 1 & 0 & 0 & t & 0 & 0 & \frac{t^2}{2} - a\lambda_{\mathbf{X}} & 0 \\ 0 & 0 & 1 & 0 & 0 & t & 0 & 0 & \frac{t^2}{2} \\ \hline & 1 & 0 & 0 & t - \frac{t^2}{2}\lambda_{\mathbf{X}} + a\lambda^2_{\mathbf{X}} & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & t - \frac{t^2}{2}\lambda_{\mathbf{X}} + a\lambda^2_{\mathbf{X}} & 0 \\ \hline & 0 & 0 & 1 & 0 & 0 & t \\ \hline & & & & 1 - \lambda_{\mathbf{X}} t + \frac{t^2}{2}\lambda^2_{\mathbf{X}} - a\lambda^3_{\mathbf{X}} & 0 & 0 \\ 0 & & & & & 0 & 1 \end{bmatrix}$$
(71)

where

2

$$a = \frac{1}{\lambda^3_y} - \frac{t}{\lambda^2_y} + \frac{t^2}{2\lambda_y} - \frac{e^{-\lambda_y t}}{\lambda^3_y} .$$

For a case with $\lambda_y = 0$, $\lambda_x = \lambda_z > 0$, e^{Ft} will be as shown in Equation (72).

$$\mathbf{p} \mathbf{F} \mathbf{t} = \begin{bmatrix} 1 & 0 & 0 & 0 & \frac{t^2}{2} - a\lambda_{\mathbf{x}} & 0 & 0 \\ 0 & 1 & 0 & 0 & t & 0 & 0 & \frac{t^2}{2} & 0 \\ 0 & 0 & 1 & 0 & 0 & t & 0 & 0 & \frac{t^2}{2} - a\lambda_{\mathbf{x}} \\ \hline & 1 & 0 & 0 & t & 0 & 0 & \frac{t^2}{2} - a\lambda_{\mathbf{x}} \\ \hline & 1 & 0 & 0 & t - \frac{t^2}{2}\lambda_{\mathbf{x}} + a\lambda^2_{\mathbf{x}} & 0 & 0 \\ 0 & 0 & 1 & 0 & t & 0 \\ \hline & 0 & 0 & 1 & 0 & t - \frac{t^2}{2}\lambda_{\mathbf{x}} + a\lambda^2_{\mathbf{x}} \\ \hline & 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 1 & 0 \\ \hline & 0 & 0 & 1 & 0 \\ \hline & 0 & 0 & 1 & 0 \\ \hline & 0 & 0 & 1 - \lambda_{\mathbf{x}} t + \frac{t^2}{2}\lambda^2_{\mathbf{x}} - a\lambda^3_{\mathbf{x}} \\ \hline \end{array} \right)$$
(72)

where

$$a = \frac{1}{\lambda^3_x} - \frac{t}{\lambda^2_x} + \frac{t^2}{2\lambda_x} - \frac{e^{-\lambda_x t}}{\lambda^3_x} .$$

IV. CONCLUSIONS

In order to verify the expressions developed for e^{Ft} in Section III, a computer program was written which would integrate the target equations (2), for an arbitrary set of initial conditions and λ 's and for $w \equiv 0$, to generate time histories of target position, velocity and acceleration along the x, y, z axes. A listing of the program is presented in Appendix A. Using this program, data was generated for each of the cases considered in Section III. Table 1 lists the target state initial conditions and the values used for $\lambda_{\rm X}$, $\lambda_{\rm Y}$ and $\lambda_{\rm Z}$ for each computer run case. The target state transition matrix from Section III, which corresponds to each of the cases listed in Table 1, was then used to generate target state data for comparison with the computer output.

A representative set of data indicating the results of the comparison is presented in Figures 1 through 12. This data represents the target position, for each of the cases in Table 1, for both the computer solution and the state transition matrix solution. As can be seen, the data output matches in each instance and the state transition matrix expressions in Section III are verified.

| Сазе | ک <mark>ہ</mark> | λy | λ_z | Paragraph |
|------|------------------|----|-------------|-----------|
| 1 | 1. | 1. | 1. | С |
| 2 | 3. | 2. | 1. | В |
| 3 | 2. | 0. | 1. | D |
| 6 | 0. | 1. | 1. | E |

| TABLE 1 | TEST | RUN | CONDITIONS |
|---------|------|-----|------------|
|---------|------|-----|------------|

NOTE: Target state initial conditions in each case were as follows:

| x(0) = 100. | y(0) = 200. | z(0) = 2000. |
|----------------------|---------------|---------------------|
| $\dot{x}(0) = 2000.$ | ý(0) = 400. | $\dot{z}(0) = 300.$ |
| X(0) = 300. | ÿ(0) = -2000. | 2(0) = 700. |







X



يستغلبنه





.









.

4

Figure 7. Target x-Position Versus Time, Case 3.















Target z Position Versus Time, Case 6. Figure 12.

APPENDIX A

DIGITAL SIMULATION PROGRAM

A listing of the digital simulation program which was used to integrate the differential equations describing the target acceleration components, Equation (2), in order to provide time histories of target position, velocity and acceleration components is presented in this Appendix. The simulation permits target state initial conditions and values for $\lambda_{\rm X}$, $\lambda_{\rm y}$, $\lambda_{\rm z}$ to be varied by the user and uses an external line-printer plot routine to provide data plot outputs.

THE FOLLIGED A PROGRAM WILL ATTEMPT TO INTEGRATE THREE EQUATIONS TO GOVERN TARGET AUCLERATIONS VELOCITIES, AND POSITIONS THE PROGRAM WILL USE THE RUNGE-KUTTA 4 SUBROUTINE COMMON A RECEXTOR RUTTA, DT. N. 0474 - - 18 10/5-6.4-17 1411 - 241497 R.TW, 15-107 ÷ ⇒£⊙ CONTINCE HOUNT F \mathbb{P} : 1 HOUNDER. MAGURE - 135 us 123 141 A . **.**)..... · · · CONFIDERS. $\bullet = \tilde{C}$ PRAD INFIAL POSITION, VELOCITY, ACCELERATION FOR X Y 3 PEAD(IR = END=241) X(3), X(2), X(1) HEAD-IR. H: (16). X(5). x(4) READ . IR. + 1 (9). X(8). X(7) रे≣**me** = ⊘ MX = 9 07 = 1: READ LAMBDA - XKX, KY-XKZ ÷___ READ IP. + AKX KY, XKZ CONTINUE 1200 IF (TIME GE 20 0) 60 TO 21 r = K + 1 DD 100 NOTTA = 1,4 DX(1)=(-XKK/*X(1) Dx(2)= (-1) DX(3) = x:27 $DX(4) = (-i M \forall i \neq X(4))$ 5X+5+=x+4+ DX(G)=X(E) $DX \cdot \nabla j = (-xRZ) + X \cdot 7)$ $DX(\mathbf{S}) = X(\mathbf{C})$ $DX(9) = X : S \cdot$ GO TO (30, 50, 30, 407, MUTTA ЗČ CONTINUE IF (KUTTA GT 1: GO TO 31 31 CONTINUE TIME = TIME + 5 #DT 40CONTINUE CALL RUNH 60 IF (KOUNT NELO, GO TO 44 WRITE (6.214) TIME, X(1) ((2), X 3) 214 FORMAT(2X: 4(G12 - 6, 2X) WRITE(5,216,X(4),X(5),(4)6) FORMATIES BIGIE OFEK 21: CONTENDE WOUNT = KOUNT + 1 TE FROMME ES MROUNTS RELETS & 1.1 LONT I W. E FREDAT NE D GO TI 125

D,

H

N

Ŋ

.

| | <pre>WRITE (6,200)TIME,X(1),X(2),X(3)</pre> |
|-----|---|
| 200 | FORMAT(2X, 4(G12, 6, 2X)) |
| | WRITE (6,205)X(4),X(5),X(6) |
| | WRITE(6,205)X(7),X(8),X(9) |
| 205 | FORMAT (2X, 3(G12, 6, 2X)) |
| 199 | CONTINUE |
| | KOUNT1=KOUNT1+1 |
| | IF (KOUNT1 EQ. MKOUNT) KOUNT1=0 |
| | GD TD 1000 |
| 21 | CONTINUE |
| | GO TO 511 |
| 241 | STOP |
| | END |
| | |

| | SUBROUTINE RUNK |
|----|--|
| | COMMON X(9), DX(9), KUTTA, DT, NX |
| | DIMENSION XA(9), DXA(9) |
| | GO TO (10,30,50,70), KUTTA |
| 10 | DO 20 I = 1, NX |
| | XA(I) = X(I) |
| | DXA(I) = DT + DX(I) |
| 20 | X(I) = X(I) + 5 * D X A(I) |
| | RETURN |
| 30 | TDT = 2. + DT |
| | $HDT = .5 \pm DT$ |
| | DO 40 I = 1, NX |
| | DXA(I) = DXA(I) + TDT + DX(I) |
| 40 | X(I) = XA(I) + HDT + DX(I) |
| | RETURN |
| 50 | DD 60 I = $1, NX$ |
| | VDT = DT + DX(I) |
| | DXA(I) = DXA(I) + 2. + VDT |
| 60 | X(I) = XA(I) + VDT |
| | RETURN |
| 70 | DO BO I = 1, NX |
| 80 | X(I) = XA(I) + (DXA(I) + DT + DX(I))/6 |
| | RETURN |
| | END |

REFERENCES

- Sivak, J. A. and Siegel, J., <u>Strapdown Inertial Midcourse Guidance for</u> <u>Air Defense Missiles</u>, The Analytic Sciences Corporation Report No. TR-3218-1, Reading, Massachusetts, 31 March 1981.
- Ogata, K., Modern Control Engineering, Prentice-Hall, Englewood Cliffs, New Jersey, 1970.
- 3. Gantmacher, F. R., <u>The Theory of Matrices</u>, Volume I, Chelsea Publishing Company, New York, N.Y., 1977.

DISTRIBUTION

| | No. Cys |
|--|---------|
| Defense Technical Information Center | 12 |
| Cameron Station | |
| Alexandria, Virginia 22314 | |
| US Army Materiel Systems Analysis Activity ATTN: DRXSY-MP | 1 |
| Aberdeen Proving Ground, Maryland 21005 | |
| DRSMI-RG, Dr. Yates | 1 |
| -RGN, W. L. McCowan | 12 |
| -RGN, K. Higginbotham | 1 |
| -RGN, C. Lewis | 1 |
| -RGT, W. Jordan | 1 |
| -RPT, Record Cy | 1 |



10-33















